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RO &S %7275 A (litpatternb.hs) % 2> /31 )V § % &, Parse Error £ 7425,

f x = case x of
0 -> "zero"
_ —> "non-zero"
main = do putStrLn $§ f 1
putStrln § £ O

DEDLDIZEBUTRNIE (ATFD 707 S AMIBIRTEED ),

f x = case x of
x | x == 0 -> "zero"
_ -> "non-zero"
main = do putStrLn $ f 1
putStrln § £ O

HEOYT

2020-10-26 (Mon)
ZHUZBEUT, §I2UAICA22DT, x \ x == a - hoge— WAL 27— A %8N (litpetternc2.hs)

f x = case x of
x| x =0 -> "zero"

x | x ==1 -> "one"



-> "other"

main = do print $ £ O
print $ £ 1
print $ £ 2

INDBBERALEHDT, KLKT I,
W, BUROT T —I%, ZOREHIUETIZ, Parse Error (278> TW3%, Parser.y & ATHRIFTNIL,

2020-12-28 (Mon)

EDHZTIVILINLTADS,

$ bunny tcompile litpatternb.hs

/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/litpatternb --xno-implicit-prelude /home/unno/bunny/0.9.
/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/litpatternb --xlibrary-path /home/unno/bunny/0.9.0/lib -
implicitPrelude ... done.

Error: parseError: TInteger (0,AlexPn 24 2 3)

2021-10-24 (Sun)

R ) — X

unno@unno-FMVD70GN7G ~/work/bissues/084
$ cat litpatternb.hs
f x = case x of

0 -> "zero"

_ —> "non-zero"

main = do putStrln $ f 1
putStrln $ £ O
unno@unno-FMVD70GN7G ~/work/bissues/084
$ runhaskell litpatternb.hs
non-zero
Zero
unno@unno-FMVD70GN7G ~/work/bissues/084
$ ~/prj/bunny/compiler/bin/bunny tcompile litpatternb.hs



/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb --xno-implicit-prelude /home/unno/prj
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb --xlibrary-path /home/unno/prj/bunny/
implicitPrelude ... done.

Error: parseError: TInteger (0,AlexPn 24 2 3)

INERTEN, VFINUSRBRLLSTYVAMIIYFIERDLDZRDEH->T, 55 EBURIE parse error:

unno@unno-FMVD70GN7G ~/work/bissues/084
$ cat litpatternbX.hs
f x = case x of

X2 => "X

_ -> "not X"
main = do putStrln $ f °X°

putStrln § £ Y’

unno@unno-FMVD70GN7G ~/work/bissues/084
$ runhaskell litpatternbX.hs
X
not X
unno@unno-FMVD70GN7G ~/work/bissues/084
$ ~/prj/bunny/compiler/bin/bunny tcompile litpatternbX.hs
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternbX --xno-implicit-prelude /home/unno/pr
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternbX --xlibrary-path /home/unno/prj/bunny
implicitPrelude ... done.

Error: parseError: TChar (’X’,AlexPn 24 2 3)

2021-11-03 (Wed)

XiERABBLTEH, TN ET T —IZAR8Z XD IR AR, £/2, GHC D Parser.y.source DX}
TP L RHANTEH, E<ITEREIADBR,

HEULMUT, FET T —LMIE (semantic action THIS % 72 1F S %2 £ T) parseError (2254505 %
DM END DT Parser.y 2 Ad L, veurly DGR L NBEWVIGERADIZE D BRD A,

Tk, WA DT, LI 77 MATZ#EDZRNE S IT libpatternb.hs 2 FH IR TALL, @Eo 7]

unno@unno-FMVD70GN7G ~/work/bissues/084
$ cat litpatternb_curly.hs

f x = case x of { 0 -> "zero"; _ -> "non-zero" }



main = do putStrln $ f 1

putStrln $ £ 0
unno@unno-FMVD70GN7G ~/work/bissues/084
$ ~/prj/bunny/compiler/bin/bunny testrun litpatternb_curly.hs
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb_curly --xno-implicit-prelude /home/un
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb_curly --xlibrary-path /home/unno/prj/
non-zero

zero

WREEFTIEL 1 7 7 MERRAIORIEZ 5728 & 5,

2021-11-06 (Sat)

unno@unno-FMVD70GN7G ~/work/bissues/084
$ cat litpatternb3.hs
f x = case x of

0.0 -> "zero"

-> "non-zero"

main = do putStrLn $ £ (1.0::Double)
putStrln $ £ (0.0::Float)

$ runhaskell litpatternb3.hs

non-zero

zero

unno@unno-FMVD70GN7G ~/work/bissues/084

$ ghci litpatternb3.hs

GHCi, version 8.6.5: http://www.haskell.org/ghc/ :7 for help

[1 of 1] Compiling Main ( litpatternb3.hs, interpreted )

Ok, one module loaded.

*Main> :t £

f :: (Eq a, Fractional a) => a -> [Char]

*Main> :q

Leaving GHCi.

unno@unno-FMVD70GN7G ~/work/bissues/084

$ ~/prj/bunny/compiler/bin/bunny tcompile --ddump-assump litpatternb3.hs |& less
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xno-implicit-prelude /home/unno/pr



/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xlibrary-path /home/unno/prj/bunny
implicitPrelude ... done.

Error: parseError: TFloat (0.0,AlexPn 24 2 3)

TFloat & act_token Z AT LDIZEFEL AL TIEWIT RV, AFDEEYEE :

$ git diff

diff --git a/compiler/src/Lexer.x b/compiler/src/Lexer.x

index adfb4b0..231£96c 100644

--- a/compiler/src/Lexer.x

+++ b/compiler/src/Lexer.x

@@ -533,7 +533,7 @@ act_integer (pos, _, _, s) len = act_token (TInteger (i, pos)) pos

i = read $ take len s

act_float :: AlexAction Token

—act_float (pos, _, _, s) len = do unFlags; return $ TFloat (x, pos)
+act_float (pos, _, _, s) len = do act_token (TFloat (x, pos)) pos
where

x = read $ take len s

AL NVED & D128 Y, Mainf ORE~ZZUW (GHC DT LEU) £57:

/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xno-implicit-prelude /home/unno/pr
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xlibrary-path /home/unno/prj/bunny
implicitPrelude ... done.

doCompile ... Debugging dump of assumptions (results of the type inference).

#overloaded# :: (a -> ([Prelude.Char] -> b))

Main.f :: Forall [Star] ([Prelude.Fractional a] :=> (a -> [Prelude.Char]))

FATHER -

$ ~“/prj/bunny/compiler/bin/bunny testrun litpatternb3.hs

/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xno-implicit-prelude /home/unno/pr
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/litpatternb3 --xlibrary-path /home/unno/prj/bunny
non-zero

zero
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